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NOTE :1) All questions are compulsory.

2) Figures to right indicate full marks.

Q.1 Writenoteson(ANY TWO). o (14)

Q.2

Q.3

Q.4

i) CausesofdeclineofIndian handicrafts.

ii) Measures toimprove productivityin agriculture.
iii) Need for agricultural price policy.

iv) Industrial Policy Resolution- 1948

Explain (ANY TWO). : (12)
i) Changesinthesectoralcomposition of NationalIncome
ii) Featuresofindianeconomy.
iii) Policy measurestoreduceinequalityinincomedistributionin
India.

Discuss (ANY TWO) (12)
i) Achievementsand failuresofgreenrevolution.

ii) Landreform measuresinlindia

iii) Measurestoimproveagricultural marketing.

Describe (ANY TWO) (12)
i) IndustrialdevelopmentinIndiainthe post-reform period.

ii) Industrial Policy Resolution- 1956

{ii) NewIndustrial Policy-1991.
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